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SA - BB B () - MM - BES Ol &t o San HmEET
01 HIXNHHNBHNEES 49,017 43,171 5,846
AZOHE 2A 2 e N 49,017
= 49,017
ALIIsAE etE 2L 14,760 21,900 AT,140
= 14,760
308 XXM SOIA 14,760 21,900 AT,140
= 14,760
01 IXNHHMBANEES 14,760 21,900 AT,140
OzZllsals ¢dae N 14,760
= 14,760
HE2A(AILIN) ZAIS 23t 16,000 16,000 0
= 16,000
308 MtXIEHMSOIH 16,000 16,000 0
= 16,000
01 HXNHHBHELS 16,000 16,000 0
OUZA(AILIO) 2 AIE &St 16,000
= 16,000
AE RHSE otd e 4,750 7,600 A2,850
X 4,750
202 O4dl 1,000 2,800 A 1,800
Xl 1,000
01 = LH 4 Hi 1,000 2,800 21,800
Ofdisz odael =& ol 1,000
Xl 1,000
206 = Hl 3,750 4,800 A 1,050
Xl 3,750
01 MHZ 4l 3,750 4,800 A 1,050
ORdi=& otdzel =& W= 3,750
Xl 3,750
AE Y oeE ordze =& 10,610 11,288 AB78
Xl 10,610
201 Let24d] 3,288 3,966 AB78
Xl 3,288
01 At 22l 3,288 3,966 A678
O= &l 1,376
Xl 1,376
O=+=&Htl 1,912
X 1,912
202 4 Hl 7,322 7,322 0
Xl 7,322
01 =LHOIHI 7,322 7,322 0
OalZo st ael =& 7,322
Xl 7,322
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Helol S22 XdMdE 22 1,966,680 2,272,000 A 305,320
= 1,966,680
308 AHAIEHHSOIA 1,966,680 2,272,000 A 305,320
= 1,966,680
01 HXNHHBHELS 1,966,680 2,272,000 A 305,320
O0eol SAZeXNALH 29 1,966,680
= 1,966,680
Helol JIsAsE dgaed g 47,000 47,000 0
= 47,000
308 XXM SO0l A 47,000 47,000 0
= 47,000
01 HIXNHHBNEES 47,000 47,000 0
O0eol JIsAE Mgaeld g3 47,000
= 47,000
AlZ ot 22| Q1 E 0| & (HACCP) A& ElHl XI& 57,600 0 57,600
= 57,600
308 XtXIEHH SOl A 57,600 0 57,600
= 57,600
01 X HHILEES 57,600 0 57,600
OAalZotE 22| &I & (HACCP) & ElHl I 57,600
= 57,600
S XA O12J1=Z 3 U3 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZHSHALALH 2 £ 30,000 30,000 0
OZXIALEH DIEJI=&3 A3 30,000
SESA 2 K& 88,000 0 88,000
308 XX EHHSOIA 88,000 0 88,000
01 IXNHHNBMNEES 88,000 0 88,000
OESA e XA 88,000
g s & 29 48,000 0 48,000
g E2d 2= 84 48,000 0 48,000
201 L2l 48,000 0 48,000
01 At 22l 48,000 0 48,000
O e 28 & 222 W= 31,000
og 2 & 820t =2 ¢ IMBY DSBS 17,000
ooE oty & 649,087 718,171 A 69,084
= 429,000
X 4,087
< 216,000
RHSE A2 (YLE) 4,087 4,171 N84
X 4,087
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202 Od4dl 400 480 A 80
X 400
01 =S LHAYI 400 480 A80
Ofsdiszd odael =& ol 400
Xl 400
206 M= Hl 3,687 3,691 A4
Xl 3,687
01 MHZ 8l 3,687 3,691 A4
ORoi=Z etdae M=l 3,687
X 3,687
SHETH RS XA AIE &XIHI(BTL) & & 639,000 711,000 AT72,000
= 426,000
< 213,000
403 A X EHHS =0l A 639,000 711,000 AT72,000
= 426,000
= 213,000
01 X EHHMA=E L 639,000 711,000 AT72,000
OStAMRSNIAAE HXHI(BTL) & 639,000
= 426,000
< 213,000
OIAFS=A MHEXZ 6,000 3,000 3,000
= 3,000
= 3,000
307 glz2tol & 6,000 3,000 3,000
= 3,000
= 3,000
01 2272l 6,000 3,000 3,000
OltAR==I MEX2 6,000
= 3,000
< 3,000
AL I (Aot E L) 38,878 39,878 A 1,000
Jl23l 38,878 39,878 A 1,000
JlE2&l 38,878 39,878 21,000
201 LBH2E| 12,418 12,418 0
01 A2 22| 12,418 12,418 0
Ol 48l 5,068
oJl=3z 7,350
202 O4dl 26,460 26,460 0
01 = LH 4 Hi 26,460 26,460 0
OJlaul 26,460




